Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320903 Date: 06-01-2016
Subject Name: D.C.CIRCUITS
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

oA W

NO. Question Text and Option. W&t A [Ascdl.
1. 1KQ=-0

A 10t B. 10’
C. 10° D. 10°

q 1KQ=--0

A 1 B. 10°

C. 106 D. 103

2. The unit of time constant L/ R is :
A. Sec B. H/sec
C. Ohms/sec D H-sec

. UHAWMUSIS L/ R oll AEH ----- 0.
A. Sec B. H/sec
C. Ohms/sec D H-sec

3. The direction of a magnetic field within a magnet is
A. from south to north B.  from north to south
C. back to front D. front to back

3. Ao Hi NoaRs (Besell €lan ----- ala B.
A gellal ol G 2 B Gy 2 ol ealla
C. won oA 2o D. o1 Al wen

4. The branch current method uses
A.  Kirchhoff's voltage and current  B.  Thevenin's theorem and Ohm's law

laws
C. Kirchhoff's current law and D. the superposition theorem and
Ohm's law Thevenin's theorem
¥. Ol 522 Ml ------- aAuRd B.
A BAs ARx A 52200 B. 206l oll (R el AAR YR
(atn
C. (3As s2ell Man wa A6t D yull@uet YN wual Ad[et
ol [Aan Y2l
5. Resistivity of a wire depends on
A. Length B.  Material
C.  cross section area D. all of the above
W 2R ofl WARAUS Al MLUR ----- R 9.
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10.

10.

11.

1.

12.

A dous B. 1ddlac

C. asB®sall Adlaw D Guretl it

An ideal voltage source should have

A.  Zero internal resistance B. Large value of emf
C. Infinite internal resistance D. Low value of current
wled AR% A ----- sl &,

A 9t AidRs way B, ay g.au.As.
C.o el UidRs wcRy D ay s2e

Ampere second could be the unit of

A.  Power B. Conductance

C. Energy D. Charge

AWrflaR ASS W Aoll AsU B ?

A war B aesdl

C. Ay D.

The ability of a material to remain magnetized after removal of the magnetizing force
is known as

A permeability B Reluctance
C. hysteresis D. Retentivity

Naaleleslol ol ollseul oite wel UeLdo(l Nonatees 3clloll atHcllal ------ 58
8.
A Hluel@2l B.  Jflasesu

C. Rl D. ERA4
Ohm's law is not applicable to

A. DC circuits B.  high currents
C. small resistors D.  semi-conductors.
Ae oll [AauM ------ UR ] Ul otel.

A SRl wdluy B Gt yae
C. Q8| ARy D. e cuss
The filament of an electric bulb is made of

A. Carbon B.  Nickel

C. Tungsten D. Aluminium
8AsEls 6] oll flatie Aol Wacl slau?

A sid] ot B [sct

C. 2orédt D Acy@@an

Two resistances Rq and Ry give combined resistance of 4.5 ohms when in series and 1

Ohm when in parallel.the resistance are
A. 3 ohmsand 6 ohms B. 3 ohmsand 9 ohms
C. 1.50hms and 3 ohms D. 1.5o0hmsand 0.5 ohms.

A WARAYU Ry A Ry oll AHACL WY AZgHl ¥.u Al WAAHT 1 8L
8 Al Ry A Ry ofl (BHA -

A. 3 ohmsand 6 ohms B. 3 ohmsand 9 ohms

C. 1.50hmsand 3 ohms D. 1.5o0hmsand 0.5 ohms.
The capacitance of a capacitor is not influenced by

A. plate thickness B. plate separation

2/11



.

13.

3.

14.

.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

C. plate area D. nature of dielectric

30220 3UY 2o Sloll UR WUR AW otel?

A Qeell sty B, 1Q2 <] vid?
C. Qe o Adlau D. Qe ol tuq

The unit of magnetic flux density is

A Amps /meter’ B.  Farads /meter’

C. Weber /meter2 D. Weber /meter
Noadls SASU dotcll oll ASH ------ 8.

A Amps /meter” B.  Farads /meter”

C. Weber /meter2 D. Weber /meter

A 10 Q resistance having current of 4 A will dissipate the power of
A. 200w B. 400W

C. 600w D. 800w

10 Bl&lotl AU Hi 4 ALNAR Yals sl dl UlaR 32l duRlA?
A. 200w B. 400W

C. 600w D. 800w

Which of the following is not equivalent to watts?

A.  amperes X volts B.  (amperes)®* ohm
C. amperes/ volt. D. joules per second
AActHiedll 53 Az A HRoR otell?

A. amperes X volts B.  (amperes)®* ohm
C. amperes/ volt. D.  joules per second
A heater element in an electric iron make of

A. Nichrome B. Iron

C. Tungsten D. Constantan
B8AsELs el Hi 8leR ol Aol vl dlat?

A @Slet B et

C. 2owreet D Qlugzat

A kilowatt hour is the unit of

A. energy B.  Electric circuit

C. voltage D. power

(BAldle waR A Aol AsH B?

A. energy B.  Electric circuit

C. voltage D. power

Thevenin’s theorem is form of an equivalent circuit.

A. Voltage B. current

C. Voltage and current D.  None of above
Ad(Aet YN A ----ofl AU U812 B.

A. Voltage B. current

C. Voltage and current D.  Guauigll S8 A®
The maximum power transfer theorem is used in

A.  Electronics circuits B.  Power system

C.  Home lighting circuits D.  None of the above
AsYHH WaR 2182 YlalRHell GURLDL ----Hi Al B.

A sasgls uR0e B war lken

C. urell cusse D Guaniell 88 3
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20.

R0.

21.

1.

22.

.

23.

23.

24,

RY¥.

25.

U.

26.

6.

27.

The superposition theorem is used when the circuit contains.............

A. Asingle voltage source
C. Passive elements only

A number of voltage sources
None of the above

YR USlSHL ------ Alal AR YURUBuat YAausll GuAloL Al B.

A Qg Ay
C. g5t Wallal ard

An active element in a circuit is one which

A. Receives energy
C. Both receives and supplies
energy

URSle Hi Aséla AcllHe ----------

A Qe A
C.  Aol& ANA uUA U

A wire has a resistance of 12 ohm. It is bent in the form of a circle. The effective

Us 5l dAUR Al
GuHiYl 8\® @

Supplies energy

None of the above

NE(CENRD

None of the above

resistance between the two points on any diameter of the circle is

3 ohm
24 ohm

AR ol AR 1R AE B, oSN WA B, Aol cAl¥all 518 A (olg AR

A. 60hm

C. 12ohm

UHARL AAAY ----- AL
A. 6o0hm

C. 12ohm

When cells are arranged in parallel
A.  The current capacity increase
C. Thee.m.f. increases

Ad o WRRAAUL AScl -----
A gz aHdl ol

C. gaAuAs. ad

The Sl unit of conductivity is
A. Ohm-m

C. Mho-m

$552lclElell SI ASH - B.
A.  Ohm-m

C. Mho-m

Conductivity is the reciprocal of
A.  Current density
C. Resistivity

§553lcllEloll e ---- B.
A Qe doldl

C. waRudl

Potential difference has the unit of

A. Charge

C. Energy

[losE Ll oll dAsladdoll ASH ---- B,
A yef

C. Aotaf]

E. M. F. In a circuit

3 ohm
24 ohm

The current capacity decrease
The e.m.f. decreases

g2 -l U
8. AH.AS. U

Ohm/m
Mho/m

Ohm/m
Mho/m

Resistance
None of the above

Rl
GuRuiell 818 ol

Power
None of the above

UlalR
GURHI 818 @
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0.

28.

RC.

29.

RC.

30.

30.

31.

3.

32.

3R.

A. Increases circuit resistance B.  Decreases circuit resistance
C. Maintains potential difference D.  None of the above

URslenl s A A ----

A paRly dll B. Ry u2

C. Qoseoialoll dsteld D. Guauidl 818 <R
Equivalent current source of 40 V, 4 Q voltage source is

A 20A,2Q B. 20A,4Q

C. 10A,4Q D. 5A,2Q

40 dle2, 4 W&l Al WAl AU 22 A ------

A 20A,2Q B. 20A,4Q

C. 10A,4Q D. 5A,2Q

A parallel arrangement of 3 ohm and 6 ohm resistors in series with an 8 ohm resistor.
If p.d. of 60 V is connected across the whole circuit, the current in the three ohm
resistor is

A.  6A B. 2A

C. 4A D. 10A

UWRAA HL B3 3 AL WA § A6l WRlUa ¢ el AU ARl Hl %3 B,

| ARSle Hi SO dleed Ul dlal Al s22 32l aUlL?

A. 6A B. 2A

C. 4A D. 10A

An air capacitor has the same dimensions as that of a mica capacitor. If the
capacitance of mica capacitor is 6 times that of air capacitor, then relative permittivity
of mica is

A. 36 B. 12

C. 3 D. 6

As AR FUAl2Retl Hiu 1isst 3U{leR F2cl 8, %l 1ssl FU{leq] 5UAleu
AR FAleratl 3R ol 5 a1g) Sl A, Hyst 3U{leedl Adla

WRHIRAZ ----- U2l
A B.
C. D.

Two resistors A and B have resistances Ra and Rg respectively with Ra< Rg. The
Resistivities of their materials are pA and pg. Then,

A pA>pg B. pA=pp

C. pA<pg D. Information insufficient

A ULALES Al B oll WU AojsA Rp ol R B (RA< RB) . pA A pg A
AWRuUSAL sl dl

A pA>pp B. pA=pp

C. pA<pp D 1 dldl yodl otell

A current of 4.8 A is flowing in a conductor. The number of electrons flowing per
second through the conductor will be

A, 3x10" electrons B.  76.8 x 10%° electrons
C. 768x 1020 electrons D. 3x 1020 electrons

As clesHiUl ¥.¢ AV dlosycile UAR AlA B, Al clesHigdl As ASSHL
52Cl sAslel UAIR A ?

A, 3x10™ electrons B.  76.8 x 102 electrons
C. 768x 1020 electrons D. 3x 1020 electrons
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33

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

3¢.

39.

Unit of potential difference is

A.  Ampere B. watt

C. Newton D. Volt

clog € o1RLoll cdAslelctoll ASH - ©.

A AR B e

C. wyedt D. Qe

A capacitor opposes

A. change in current B.  both change in current and voltage

C. change in voltage D.  Any one of current or voltage

3022 5l A3 B.

A g22all dslaldd B. 5326l dslald u AR ol
aslad

C. QAR ol dslad D. g3z wal d@auidl Sy ual

The capacitance of a capacitor is relative permittivity.

A. directly proportional to B. independent of

C. inversely proportional to D. directly proportional to square of

$0leRq] 32t A Al uRHElElA ------ 8.

A qHUACHL B.

C. cid D colotl dxymiemi

The electric current is defined as

A.  Sec/coulomb B. Coulomb*sec

C. Coulomb/sec D. COUIOme/SGC

sAs2s s2e WA -----

A.  Sec/coulomb B. Coulomb*sec

C. Coulomb/sec D. Cou|omb2/3ec

Which of the following materials does not follow Ohm’s law?

A. Nickle B.  Silicon

C. Copper D. Aluminium

ol AotHell 52 ueldd ettt Rl WofAA oel?

A ollse B. RS\t

C. auw D. Acy@ollant

Which of the following equation is true for electric power?

A W=VR B.  w=v*>R

C. w=R*V D.  w=R*V

BASES UlclR HIER 53 Yol WY B ?

A W=VAR B.  w=V*R

C. W=RN D.  w=R*V

Value of ao for copper is Q/ Q/°c

A, 1/1234 B. 1/23.45

C. 1/2345 D. 1/2345

SLUR HR aooll (BHd - Q/ Q°C ®.

A, 1/1234 B. 1/23.45

C. 1/2345 D. 1/2345
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40.

¥0.

41.

¥1.

42.

¥R.

43.

¥3.

44,

¥¥.

45,

¥Y.

46.

The value of Joule’s constant J is joule/calorie
A. 4186 B. 41.86

C. 4.186 D. 4186

ot AUAUANS J ofl (EHA - joule/calorie ®.

A. 4186 B. 41.86

C. 4.186 D. 4186

To produce 1 kilo calorie heat joule electrical work has to be done.
A. 4186 B. 41.86

C. 4.186 D. 418.6

1 SlABAI Gul Gauzl sl ---- YA BASELS S1H AU A,
A. 4186 B. 41.86

C. 4.186 D. 4186

1 kwWh = kilo calorie

A. 4186 B. 4.186

C. 4186 D. 860

1 BAdeuaR = ------ B 3a3l

A. 4186 B. 4.186

C. 4186 D. 860

The basic unit of electric charge is

A. Farad B. Coulomb

C.  Ampere-hour D.  Watt-hour
BASELS AU ol ASH ----- .

AR} B gclut

C. Auflar saus D. A saus

Which of the following statement is True?
A.  Unit of emf is watt & potential B.  Unit of emf is volt & potential

difference is volt difference is volt
C. Unit of emf is volt & potential D.  Unit of emf is watt; potential
difference is watt difference is watt

(LA Ml 53 clsel ALY ©?
A g A Ag. AsH A2 B, B. g auds.el AsH dlee B,

loge (IRl dAslelcloll WsH. loseoltaloll dglelctoll AsH clee
Al B. 8.

C gaAnAgel AsH e ®, D sAuAg. AsH de B,
lose oldloll dglelctoll AsH loseollatoll dglelctoll AsH <l
ae 8. .

Which of the following statement is True? Unit of conductance is

A.  Ohmand symbol is G B. Ohm and symbol is R

C. Siemens and symbol is R D. Siemens and symbol is G

(LAt Hil 53 clisal ALY B? AESclloll ASH ?

A el wd il G B. Qs mat sl R

C ANd ua udd R D AAd wa fhdd G

For how many hours a 25 watt lamp should be used so that 1 unit energy is
consumed?

A 40 B. 4

C. 400 D. 4000
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¥S.

47.

¥9.

48.

¥C.

49,

¥C.

50.

vo.

51.

ua.

52.

uR.

Y dlzell QXU 32cll sclls cluRalldl 1 Ylle Gl aurla ?

A. 40 B. 4
C. 400 D. 4000
Which of the following statement is True? The resistance of the conductor is
A. Inversely proportional to length  B.  Inversely proportional to cross
of conductor sectional area of conductor
C. Directly proportional to cross D.  None of above
sectional area of conductor

ol At Ml 53 cllsel ALY B? clgsell UARAU?

A qesell dolsa cld B cliesetl wlsDSell AdASNell R
C. clesoll DSl Adtsnatl D Gurniell 818 o
AHYHLRLHL

When the diameter of conductor is doubled & length is increased four times, its
resistance

A.  Will not change B.  Will become four times
C.  Will become half D.  Will become double
Alesoll Al HUHRN WA Golld AR IR 5l , Aol AcAY
A secta odl B. 12 o6l awat

Co sl ana D ol

Find the active elements from the following

A. Capacitor B.  Inductor

C. Resistor D.  Current source
o(lAstuiell Asdla AcAHe ----- )

A 3R B gog52?

C. yadu D. g3 Q

Find the passive elements from the following

A. Voltage source B. Battery

C. Resistor D.  Current source
o(lAattiell Wfla AllAe ----- )

A Qe A B. ag

C. yadu D. g3z Ql

When two equal values of resistors are connected in parallel, the equivalent resistance

will be

A.  Greater than individual B.  Equal to value of each resistance
resistance

C. Lessthan individual resistance D.  None of above

A ARUL AARY ol WRAAHL, Aol UHGERL AcRY

A Qg AcRY A duR B g5 A ofl uull Bud
C. As ARy ol 1B D. Guauidl 818 «3

Condition for maximum transfer of power from source to load is

A. RL= B. Rs>RL

C. Rs<RL D. Rs=RL

AR A As HIZoll HeH UleR 282 ofl AR ----- .

A, RL=w B. Rs>RL

C. Rs<RL D. Rs=RL
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53.

u3.

54.

uy.

55.

uy,

56.

us.

S7.

9.

58.

uc.

59.

ue.

60.

Capacitance is given by

A.  C=Q*V B. C=Q+V

C. C=QIV D. C=VIQ

$Ulec AeA ?

A.  C=Q*V B. C=Q+V

C. C=QIV D. C=VIQ

Which is the dual of Thevenin’s Theorem

A.  Superposition Theorem B.  Maximum Power Transfer Theorem
C. Kirchhoff’s Laws D. Norton’s Theorem
AAo{lot YlAM of SYUMA 9 B?

A Yur et dlarH B, Rsallum war giug: leiru
C. falls ol Qan D. ot etz
1pF = _

A 10%F B. 10°F

C. 10°F D. 10°F

1pF = _

A 10%F B. 107F

C. 10°F D. 10°F

Energy stored by capacitor is given by formula

A, %*QIC B. 1/2*Q/C2

C. w%*CV D. 1/2*Q2/C
U2l AU Gosi----- YAl Amestell ustal.

A, %*QIC B. 1*Qic?

C. w%*CV D. 1/2*Q2/C

R-C Time constant is denoted by

A a B. B

C. © D. A

R-C UHA AASLS - O

A a B. B

C. © D. A

The capacitance of a capacitor is NOT influenced by

A. Plate area B.  Plate thickness

C. Plate separation D.  Nature of the dielectric
3UleRey 3Ulecd UR ----- ol AR Ul «tell.

A @z Adla B Qeofl astsies

C. Qe as{l w0 D 51y sAsoAls
Mass of an electron is kg

A 9108 *10™" B. 9.108*10

C. 9108*10™° D. 9.108*10
BAso] Aol ------ kg

A 9108 *10™" B. 9.108+*10

C. 9108*10™° D. 9108*10™*
When two capacitors of 8 uF connected in parallel the total capacitance will be
A. 16 uF B. 8pF
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SO.

61.

SA.

62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

67.

C. 4uF D. 2pF
A ¢ HIBs3A3a Ul WRAA Hi HScll dof AU SU2art -----

L.

A. 16 uF B. 8uF
C. 4uF D. 2pF

The magnetising force (H) and magnetic flux density (B) are given by
relation

A, B=H/yo pr B. B=puH

C. B =poH/pr D. B =prH/uo

NS U WA NS $EASH Yolcll oll dold -----

A, B=H/yo pr B. B=puH

C. B =poH/pr D. B =prH/uo

Which is the true formula from the following?

A, P=Mo pr B. H=pHo Hm

C. p=Vyo pr D.  u=(Mo+n)/2

o(lAo] 53 YA WY B ?

A, P=Mo ur B. u=po hm

C. p=\po pr D.  u=(Mo+pn)/2

Direction of dynamically induced emf can be found by using

A. Cork screw rule B.  Fleming’s right hand rule

C. Fleming’s left hand rule D. Right hand rule

staaAHlscll Grivat A 8. AMAS. A ------ ol el asta.

A. Cork screw rule B.  Fleming’s right hand rule

C. Fleming’s left hand rule D. Right hand rule

The magnitude of the induced e.m.f. in a conductor depends on

A.  Amount of flux-linkages B.  Amount of flux cut

C.  Flux density of magnetic field D. Rate of change of flux-linkages
cles Hi Gauzt YA 8. AHAS.8.AM NS0l SlHd ----UR AR AN B.
A.  Amount of flux-linkages B.  Amount of flux cut

C. Flux density of magnetic field D. Rate of change of flux-linkages
Coefficient of coupling is given by

A, k=MALiL2 B. k=MAL:i-Lo

C. k=MALiL. D. k=VLiL2/M

sucllol sl Aglllaie -------

A, k=MALiL2 B. k=MAL:i-Lo

C. k=MALiL. D. k=VLiL2/M

Higher the self inductance of a coil

A.  Greater the flux produced by it B.  Lesser its weber-turns

C. Lower the e.m.f. induced in it. D.  Longer the delay in establishing steady
current through it

BH I USle] ACY B95202 AUR AH ------

A qud sesy ol B, Quz 2ol a9t

C. gAH Ag AH oo D. RA2 lo yaus 2 s2al
Qda ay

Mutual inductance between two magnetically coupled coils depends on _

A.  The number of their turns B.  Cross-sectional area of their common
core
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SO.

68.

SC.

69.

Sc.

70.

90.

D. All of the above

Yrosla Aa AslAA A S8 oll RJUA SoS52o™ ----- UR LUR AW B.

B.  aauzl el Adlau
D Guell wlul o

B.  Alnico alloys
D.  Aluminium

B AeRad Ad
D AcyRan

Inductance in series given by which of the following formula?

B. L=L2-LuM

C. Permeability of the core
A el el

C. SRl WRERUAAAL
Permanent magnets are normally made of
A. Castiron

C.  Wrought iron

sl rols Aoll walcll SlA
A glee el

C. e

A L= Li-L-M

C. L=LitL2+2M

D. All of the above

QML Boss2et (AAoll saul Yorell WUUHL A B,

A.
C.

L = L:-L2-M
L = Li+L2 £2M

L=L2-Li-M
D. Guell sl o

The lifting power of an electromagnetic depends on

A.
C.

Magnetic flux density
Both (A) and (B)

B. Itspole area
D.  Itsshape

Yrousofl Gusclloll Al Slotl UUR AUUR AW B.

A.
C.

Yrosla $EsU dotcll
L Al o

B.  Qd o AAdlau
D usi2

*hkkkhkhkkkhkhkhkkihkiik
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